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1. A point is at X-axis. What is its co-ordinates ?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2fCiD4Orc48B

2. A point is at xz-plane. What can you say about its co-

ordinate ?

o Watch Video Solution

3. Name the octants in which the following points lie.

(1,2’3)’ (4’-2’-5)’ (-4,2’-5)’ (-3’-1’6)’ (4’2’-5)

o Watch Video Solution

4. The X-axis and Y-axis taken together determine a

plane know as ........

° Watch Video Solution



https://dl.doubtnut.com/l/_XwbDCMwsH8DB
https://dl.doubtnut.com/l/_69tVmB6jkRet
https://dl.doubtnut.com/l/_R5Tj5ShUiHgL

5. The co-ordinate of points in the xy-plane are of the

o Watch Video Solution

6. Co-ordinate planes divide the space into ... Octants.

o Watch Video Solution

7.1n zx-plane, the co-ordinate is ...

o Watch Video Solution



https://dl.doubtnut.com/l/_R5Tj5ShUiHgL
https://dl.doubtnut.com/l/_XP1E8OsPRvu8
https://dl.doubtnut.com/l/_v5YLoPfdRNQP
https://dl.doubtnut.com/l/_oA3pymAMWcTu

8. The point (-3,1,-2) lies in ... octant.

o Watch Video Solution

9. Find the distance between the following pairs of
points

(-3’ 7’ 2)’ (2’4’-1)‘

o Watch Video Solution

10. Find the distance between the following pairs of
points

(-1, 3’ -4)a (1) _3’ 4)

.


https://dl.doubtnut.com/l/_eUkLnSHLF57I
https://dl.doubtnut.com/l/_0eJAHimeVLcG
https://dl.doubtnut.com/l/_VPmYTatskWOe

| ¥ Vvatch video Solution |

11. Find the distance between the following pairs of
points

(2, _1’ 3)’ (_2’ -1. 3)-

° Watch Video Solution

12. Show that the points (-2,3,5), (1,2,3) and (7,0,-1) are

collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_VPmYTatskWOe
https://dl.doubtnut.com/l/_bjRZxj93wsnV
https://dl.doubtnut.com/l/_PqbrlDP8gGjp

13. Verify that (0, 7, 10) , (-1,6,6) and (-4, 9,6) are the

vertices of a right angled triangle.

o Watch Video Solution

14. Show that the points (-1,2,1), (1,-2,5), (4,7,8) and (2,-3,4)

are vertices of a parallelogram.

o Watch Video Solution

15. Find the equation of the set of points P, the sum of

whose distance from A(4,0,0) and B(-4,0,0) is equal to 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_cyGGm2BUPgRT
https://dl.doubtnut.com/l/_aEcTYyrB2vhq
https://dl.doubtnut.com/l/_Ne58fNsqAfXQ

16. Find the co-ordinates of the point which divides the
line segment joining the points (-2,3,5) and (1,-4,6) in the
ratio.

2 : 3 Internally

o Watch Video Solution

17. Find the co-ordinates of the point which divides the
line segment joining the points (-2,3,5) and (1,-4,6) in the
ratio.

2 : 3 externally.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ne58fNsqAfXQ
https://dl.doubtnut.com/l/_zwYIsrz08J7S
https://dl.doubtnut.com/l/_Oym0VbkLbZiG
https://dl.doubtnut.com/l/_Zk8Wt3pWTcs6

18. Given that p(3,2,4) , Q (5,4, -6) and R (9,8,10) are

collinear find the ratio in which Q divides PR

o Watch Video Solution

19. Find the ratio in which the line segment joining the

point (-2,4,7) and (3,-5,8) is divided by the yz-plane.

o Watch Video Solution

20. Using section formula, show that the points A(2,-3,4),

1
B(-1,2,1) and C(O, 3 2) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_Zk8Wt3pWTcs6
https://dl.doubtnut.com/l/_6vpa2p6k9gwJ
https://dl.doubtnut.com/l/_0FegPv6nWg5v

21. Find the co-ordinates of the centroid of the triangle

whose vertices are

(wl,ybzl)a ($27ylaz2) and (5173,143,23)-

o Watch Video Solution

Important Question From Miscellaneous Exercies

1. Three vertices of parallelogram ABCD are A(3,-1,2),

B(1,2,-4), C(-1,1,2). Find the co-ordinate of the fourth

vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_MhI2B6wfuVsR
https://dl.doubtnut.com/l/_xasP1NJdiEDZ
https://dl.doubtnut.com/l/_qdE5RVcJFMaB

2. Find the lenghts of the medians of the triangle with
vertices A(0,0,6), B(0,4,0) and C(6,0,0)

(0, 0, 6)

-

B(0O, 4, 0) D C(6, 0, 0)

o Watch Video Solution

3. If the origin is the centroid of the triangle PQR with
vertices P(2a,2,6), O(-4,3b,-10) and R(8,14,2¢), then find the

value of a,b and c.

° Watch Video Solution



https://dl.doubtnut.com/l/_qdE5RVcJFMaB
https://dl.doubtnut.com/l/_4gTYNpu3rYoK
https://dl.doubtnut.com/l/_sSHzNsiSfqMX

4. Find the co-ordinate of a point on y-axis which are at a

distance of 5\/5 from the point P(3,-2,5).

o Watch Video Solution

5. A point R with x-co-ordinate 4 lies on the line segment
joining the points P(2,-3,4) and Q(8,0,10). Find the co-

ordinate of the point R.

o Watch Video Solution

6. Find the equation of the circle which passes through
points (2,-2) and (3,4) and whose centre lies on the line x

+y=2.


https://dl.doubtnut.com/l/_sSHzNsiSfqMX
https://dl.doubtnut.com/l/_tW9IYku9219V
https://dl.doubtnut.com/l/_mmcu8N0wkAr7

° Watch Video Solution

7. Find the co-ordinate of the foci, the vertices, the
lengths of major and minor axes and eccentricity of the

ellipse 9z° + 4y* = 36.

o Watch Video Solution

Multiple Choice Questions Mcqs

1.In a three -dimentional space, the equation 3x -4y =0

represents

A. A plane containing Z-axis


https://dl.doubtnut.com/l/_mmcu8N0wkAr7
https://dl.doubtnut.com/l/_rw8COf8tGXQ1
https://dl.doubtnut.com/l/_QT3Y12rDpGvn

B. a plane containing X-axis

C. a plane containing Y-axis

D. none of these

Answer: A

o Watch Video Solution

2. The shortest distance of the point (a,b,c) from the x-

axis is


https://dl.doubtnut.com/l/_QT3Y12rDpGvn
https://dl.doubtnut.com/l/_GBP2k2dXAmFw

D.\/a2+b2+c2

Answer: B

o Watch Video Solution

3. The points (5,-4,2), (4,-3,1), (7,6,4), (8,7,5) are vertices of

A. square

B. parallelogram

C.rectangle

D. None of these

Answer: B


https://dl.doubtnut.com/l/_GBP2k2dXAmFw
https://dl.doubtnut.com/l/_a2gOHSC4qdKf

° Watch Video Solution

4.1f A(1,2,3), B(-1,-1,-1) be two points, then the distance AB

is

A. /5
B. /21
C. /29

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a2gOHSC4qdKf
https://dl.doubtnut.com/l/_7ksIjf8nS48H

5.1f A(5,3,2), B(-1,0,-4), C(1,1,-2) are collinear, then the ratio

in which B divides AC is

A1:3

B.2:3

C.3:. —1

D.1:2

Answer: C

o Watch Video Solution

6. Find the direction cosines of a line which makes equal

angles with the coordinate axes.


https://dl.doubtnut.com/l/_gC7ata8t6zj5
https://dl.doubtnut.com/l/_vgijT4tBkx7f

1 1 1
A.:l:g, g, :t g
6 2 1
B.:l:?, 7, :‘: 7
1 1 1
C+t—m + —, + —
V3 V3 V3
/1 3 1
D.:l: _, :l: ﬁ, :l: ﬁ
Answer: C

o Watch Video Solution

7.1f cos a, cos 3, cos -y are the direction-cosines of a line,

then the value of sin o + sin® 8 + sin®y =

Al

B.2


https://dl.doubtnut.com/l/_vgijT4tBkx7f
https://dl.doubtnut.com/l/_1JLzT993DNhW

C.3

D.4

Answer: B

o Watch Video Solution

8. If the direction ratios of a line 1, -3, 2, then its direction

cosines are

A 1 -3 2
V14 V14 V14
5 1 2 3
V14 V14 V14
c -1 -3 -2
V14 V14 14
-1 -2 -3

D. —, —,
V14 V14 /14


https://dl.doubtnut.com/l/_1JLzT993DNhW
https://dl.doubtnut.com/l/_V6LSPbY447qF

Answer: A

o Watch Video Solution

9. The co-ordinate of a point P are (3,12,4) w.r.t the origin

O, then the direction cosines of OP are

A 3124
. 1 1 1
47372
c 3 12 4
3 12 4
D. , ,
137 137 13
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_V6LSPbY447qF
https://dl.doubtnut.com/l/_Djww0PAzTUaN

10. Two lines with directino cosines
<ly,my,ngy > and < ly,mg,my > are at right

angles if

Al =1, m =my,ng =ny

I m1 ni
l5 mo no

C. lllz + mimy + NNy = 0

D. l1l2 + mimo + NNy = 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Djww0PAzTUaN
https://dl.doubtnut.com/l/_hh24W7f1VPa4

A. parallel

B. coincident

C. skew

D. perpendicular

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9PEgm8AVcDVS

12. The equation of a plane which cuts equal intercepts
of unit length on the axes, is

Ax+y+z=0

B.x+y+z=1

Cx+y-z=0

p. L+ ¥4 2
a a a

Answer: B

o Watch Video Solution

=3 :
13. The straight line 3 = = is


https://dl.doubtnut.com/l/_f4hwwonIcAmc
https://dl.doubtnut.com/l/_oZWkoiE6anEY

A.|| to x - axis

B.|| to y - axis

C.|| to z - axis

D. 1L toz-axis

Answer: D

o Watch Video Solution

14. The equation of y-axis is :

Cy=0,z=0


https://dl.doubtnut.com/l/_oZWkoiE6anEY
https://dl.doubtnut.com/l/_DklfWIAboRJ7

D.z=0,x=0

Answer: D

o Watch Video Solution

15. If the x - coordinate of a point P on the line joining

points Q(2,2,1) and R(5,1,-2) is 4, then its z-coordinate is

A2

B.1

Answer: C


https://dl.doubtnut.com/l/_DklfWIAboRJ7
https://dl.doubtnut.com/l/_nsIVSg5vyDVF

° Watch Video Solution



https://dl.doubtnut.com/l/_nsIVSg5vyDVF

